MAl4l, Sectionl6, Fall 2004
Instructor : Mr. Jamas Cook
Test 4 (Show all your work on separate paper)

1. {28 points) Calculate the following limits.
ain {x)
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2. (42 points) £ (x) = x' - 4x?, find {state any theorem youuse)
(a) Critical points
{b) The intervals in which f iz increasing / decreasing
{2) The local maxina and minima
{d) The intervals in which f is concave up / down
{a) Inflectionpoints
(f) x - intercepts
{g) Graph the function carefully

3. (15 points) What are the dimensions of the largest rectanglewith
aperimetar of 10 ft. State-the dimensions and area of that rectangle.

4. (15 points) Calculate 4/ 9.06 using the linearization of "q"; =f (x) near 9.

Extra Credit (5 points)

Given an arbitrary (2™, 3°, 4, 5*) degree polynaomial,
what are the min / max number of critical points. Graphan
example of each. '

Extra Credit (2 points)
If there is anmaximumerror of 0.1 £t in the parimeter of the rectangle
from question #3, thenwhat is themaximum, relative and percentaga aerrors in the area.
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